 N
Set3, 1.





Set3, 2.







Set3, 3. 





Set3, 4.








Set3, 5.





Set4, 1.






Set4, 2. 




ɵ


Set4, 3.







Set4, 4.






       ɵ


30º



Set4, 5.





Set 5, 1. 



ɵ



Set 5, 2.



   ɵ



Set 5, 3. 



 ɵ



Set 5, 4.


           ɵ





Set 5, 5.



  ɵ





52m





164m





78m





23m South





200m





559km W 63.4º S





40cm





35m





12m





47m downfield





216m South





300km





13m South





65m





49km





164km





115km SouthWest





25m





2m





100m





280m S 15º W





250km





500km





Displacement = 


Aa + b2 = c2 = 312500


c = √ 312500 = 559


Direction = 


Tan ɵ = 500 / 250 = 2


Tan-1 (2) = 63.4º











20cm





Displacement = 


Aa + b2 = c2 = 2000


c = √ 2000 = 44.7


Direction = 


Tan ɵ = 20/40 = 0.5


Tan-1 (0.5) = 26.6º











44.7cm 26.6º to the horizontal  





4.77cm 19º to the horizontal  





50cm





30cm





17.1m N 52º W





14m





5m





10m





300km





6m





Displacement = 


Aa + b2 = c2 = 180000


c = √ 180000 = 424.3


Direction = 


Tan ɵ = 300/300 = 1.0


Tan-1 (1.0) = 45º











Displacement = 


Aa + b2 = c2 = 100


c = √ 100 = 10


Direction = 


Tan ɵ = 8/6 = 1.33


Tan-1 (1.33) = 53.1º











424.3km NW





10m 53.1º to the vertical 





8m





500m





1200m





10m





17.32m





1.6km





1.2km





Displacement = 


Aa + b2 = c2 = 1690000


c = √ 1690000 = 1300


Direction = 


Tan ɵ = 1200/500 = 2.4 


Tan-1 (2.4) = 67.4º











Displacement = 


Aa + b2 = c2 = 400


c = √ 400 = 20


Direction = 


Tan ɵ = 10/17.32 = 0.577


Tan-1 (0.577) = 30º











Displacement = 


Aa + b2 = c2 = 4


c = √ 4 = 2


Direction = 


Tan ɵ = 1.6/1.2 = 1.33


Tan-1 (1.33) = 53.1º


53.1º - 45º = 8.1º








2km N 8.1º E 





20m  30º to the horizontal 





1300m E 67.4º S 








